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Exaletie
B o® # B T B & H = R # =
IIEE =N 0 0 0
EERIA 117, 883, 000| 117, 882, 380 620
| RRORRAAHEARA 330, 000 316, 200 13, 800
o | g [EFERERIE A 10, 315, 000| 10, 231, 900 83, 100
i)
FHEIE A 0 0 0
& 5 BN 1,890,000 1,849, 60O 20, 400
5 {EASF B 40T A 0 0 0
FHCR B &I A 60, 060 14, 356 45, 644
1= R E S RERASITA 45, 000 10,815 34, 185
& R ER A1) 130, 523, 000| 130,326,251 . 197,749
MR 98, 803, 0007 98, 390, 246 412, 754
G ¥ [FHEXH 6,978,000 6,028, 944 649, 056
g FEBRIH 19, 816, 000| 19, 142,630 673, 370
% | fEAER B H 0 0 0
R S A S 50, 000 10,815 39, 185
BEETHE @) 125, 647, 000| 123, 572, 635| 2,074, 365
BREESESRT=ER=(1-) 4,876,000| 6,752,616 ~1,876,516
e | 1 EREESREESNA 0 0 0
i% MRERSETHERA 0 0 0
= A E g EEHNA 0 0 0
- FEER RN AE (4) 0 0 0
S:: X EEEEREEY 822, 000 603, 750 18, 250
A TEA S H] 0 0 0
UL | |pe e ses ii3t (5) 622, 000 603, 750 18, 250
= HEER S SN R EEE (6)=(4) - (5) ~622, 000 —603, 750 -18, 250
AL A 0 0 0
IR |1 A £ e HBHEED ST A 0 0 0
Bt BUTEeRBR A 0 0 )
?’% A | Z DDA 0 0 a
g |[MBEARD 0 0 0
{= EAETaERETH 0 0 0
‘g X |mrEeEs T 7,800, 000| 7, 800, 000 0
i ZDOMnFEH 0 0 0
M| e R L BN ES 0 0 0
R AT R 7,800,000 7,800,000 0
MEEEE AT 25H0)=(T)-8) ~7, 800, 008| ~7, 800, 600 0
TiEE (10 340, 000
BHEE s mTEELH (1D=03)+{8)+{9)-(10) -3, 886, 000] —1,651,134| -2, 234, 868
R ESES (02 29,923, 347| 31,127,853 1,804, 506
Lk EAEE (11)+(12) 26,037,347, 28,476,719 -3, 439,372




